











Accident Photo



Accident Photo



Accident Photo

BAYERISCHE MOTOREN WERKE AG

WBAPF72070FG90264

1910 kg 3385 kg

1- 895 kg

2- 1050 kg

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID: Vehicle Details	75321
Vehicle No.:	SKC2363T
Vehicle to be Exported:	No
Intended Deregistration Date:	02 Apr 2019
Vehicle Make:	B.M.W.
Vehicle Model:	318I 2.0 AT D/AB 2WD 4DR GAS/D SR DRL
Primary Colour:	White
Manufacturing Year:	2011
Engine No.:	A5051949N46B20BZ
Chassis No.:	WBAPF72070FG90264
Maximum Power Output:	100.0 kW (134 bhp)
Open Market Value:	\$30,316.00
Original Registration Date:	29 Jul 2011
First Registration Date:	29 Jul 2011
Transfer Count:	0
Actual ARF Paid: Intended PARF Rebate Details	\$30,316.00
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	28 Jul 2021
PARF Rebate Amount: Intended COE Rebate Details	\$18,189.00
COE Expiry Date:	28 Jul 2021
COE Category:	E - Open Category
COE Period(Years):	10
QP Paid:	\$74,490.00
COE Rebate Amount:	\$16,819.00
Total Rebate Amount:	\$35,008.00

The information contained herein is correct as at 18 Mar 2019

Bal: 2-4.5 OK

35,008 5,000 35,008 5,000



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0413 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

Vehicle Inspection Report

To:

Tan Hang Kiang

C/o:

160 Sin Ming Drive #06-10

Sin Ming AutoCity (S) 575722

Date of report:

22.05.2019

Date of request: 23.04.2019

Date of inspection:

23.04.2019

Date of accident:

16.03.2019

Report No: AAS/2019/197

Claim type: Third Party Claim

Particulars of affected vehicle:

Registration no: Make/Model:

SKC2363T

BMW 318i (A)

Year of registration: Colour: Pearl White

2011

Odometer:

176453 km

Engine Capacity:

1995 cc

Engine no:

A5051949N46B20BZ

Chassis no:

WBAPF72070FG90264

Condition of tires:

Front Left:

6mm Pirelli

Make: Rear Left: Make:

6mm Pirelli Front Right:

6mm

Make:

Make:

Pirelli 6mm

Rear Right:

Pirelli

Type of road wheel:

Alloy

(The above represent the remaining life of the tire thread)

Pre-accident condition (Static tests only)

General Bodywork

: Good

Paintwork

: Good

Handbrake

: In order

Footbrake

: In order

Steering

: In order

Apparent engine modification

: Nil

The Assignment

The inspection was conduct at M/s.

Lian Heng Painter Company

160 Sin Ming Drive #06-10 Sin Ming AutoCity (S) 575722

(Subsequent inspection was conducted)

Assessment

Repairer's estimate:

\$ 28,287.00

Revised estimate:

\$ 24,445.05

Recommended reserve:

\$ 19,550.00 (Lump sum)

Estimated normal duration of repairs: 16 Working days



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722 Mobile: 9688-0413 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

Vehicle No: SKC2363T

Report No: AAS/2019/197

W/O PREJUDICE

Point of impact

At the front and rear portion.

General description of damages

The bonnet, front grille, headlamps, front bumper, front panel, boot lid, rear bumper, RHR quarter panel, rear end panel, floor panel, rear chassis member, exhaust muffler, exhaust pipe, etc.

Other parts were also found damaged. (See schedule for details)

commendation

The estimate cost of repair submitted by M/s Lian Heng Painter Company as per schedule attached have been revise and scrutinize. We list the breakdown of our findings and recommendation as per attached.

Our adjusted amount for the cost of repair is SGD \$24,445.05

Conclusion

The repairer has agreed to undertake the repair at a lumpsum of SGD \$19,550.00

Under normal circumstances, the repair of the damaged vehicle should be completed within a reasonable period of 16 working days.

have Not Authorised and/or instruction to the repairer to proceed with the repairs. This inspection was conducted entirely on a 'Without Prejudice' basis.

We are pleased to advise that the inspection was carried out accordingly and hereby submit our appraisal report which includes photographs. 188

Your Faithfully Absolute Appraisal Services Pte Ltd



Nicky Seah Automobile Appraiser MSAAA / MSMCTA



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0418 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

Vehicle No: SKC2363T	965 mm	_Wearin_III as yearing			Re	port No: AAS	/2019/197
Appraisement Schedule							
S/N Parts Description	Qty	Condition			Re	pairer's Est	Revised Est
1 Front bumper (M Trim)	1	Dented			\$	1,301.75	\$ 1,301.75/12/0
2 Front bumper tow hook cover	1	Cut			\$	25.35	\$ /25.35
3 Front bumper lower grille	1	Cracked			\$	113.45	\$ /113.45
4 Front bumper fog lamp LH/RH	2	Serviceable	\$	258.15	\$	516.30	- NN
5 Front bumper fog lamp grille LH/RH	2	Serviceable	\$	55.95	\$	111.90	· NN
6 Front bumper retainer LH/RH	2	Necessary	\$	41.50	\$	83.00	\$ X 83.00 N/
7 Front bumper carrier	1	Dented			\$	550.30	\$ /550.30
8 Front grille LH/RH	2	Cracked/Grazed	\$	128.00	\$	256.00	\$ 256,00
9 Bonnet	1	Dented			\$	1,249.30	\$ /1,249.
10 Bonnet emblem	1	Necessary			\$	79.50	\$ / 79.50
11 Bonnet end seal	2	Necessary	\$	33.75	\$	67.50	\$ / 67.50
12 Bonnet damper LH/RH	2	Serviceable	\$	109.45	\$	218.90	- NN
13 Bonnet hinge LH/RH	2	Serviceable	\$	81.85	\$	163.70	- NN
14 Bonnet hook	1	Distorted			\$	48.55	\$ X 48.55 NA
15 Headlamp LH/RH	2	Cracked/Broken	\$	980.25	\$	1,960.50	\$ 1,960.50
16 Headlamp bracket LH/RH	2	Cracked	\$	86.35	\$	172.70	\$ X172.70 NA
17 Front panel	1	Cracked			\$	573.50	\$ 2573.50
18 Brace catch	1	Dented			\$	41.30	\$ X 41.30 N/
19 Boot lid	1	Dented			\$	1,185.55	\$ 1,185.55
20 Boot lid emblem	1	Necessary			\$	69.50	\$ / 69.50
21 Boot lid nameplate '318i'	1	Necessary			\$	75.55	\$ /75.55
22 Boot lid lamp LH/RH	2	Serviceable			\$	284.55	- ///
23 Boot lid hinge LH/RH	2	Bent/Distorted	\$	78.85	\$	157.70	\$ × 157.70 /
24 Boot lid damper LH/RH	2	Bent/Stiffened	\$	109.45	\$	218.90	\$ \(218 \)
25 Boot lid lock	1	Distorted		207110	\$	115.50	\$ 115.50
26 Boot lid striker	1	Distorted			\$	54.40	\$ × 54.40 ///
27 Boot lid weather-strip	1	Necessary			\$	82.25	\$ 82.25
28 Tail lamp LH/RH	2	RH Cut	\$	377.85	\$	755.70	\$ / 377.85
29 Rear bumper (M Trim)	1	Dented/Torn	33		\$	1,181.65	\$ 1,181.65
30 Rear bumper tow hock cover	1	Missing			\$	30.50	\$ /30.50
31 Rear bumper lower trim	1	Dented			\$	71.50	\$ / 71.50
32 Rear bumper carrier	1	Dented			\$	464.25	\$ 464.25
33 Rear bumper side mount LH/RH	2	Cracked	\$	81.45	\$	162.90	\$ / 162.90
34 Rear bumper support LH/RH	2	Cracked	\$	34.15	\$	68.30	\$ / 68.30
35 Rear bumper centre mount	1	Dented/Cracked	36	01120	\$	112.35	\$ /112.35
36 Rear bumper PDC sensor	4	Malfunctioned/Missing	\$	236.85	\$	947.40	\$ / 947.40
37 Rear bumper PDC decoupling	4	Necessary	\$	12.30	\$	49.20	\$ / 49.2020.2
38 Rear bumper PDC sensor harness		Broken	φ	12.50	\$	223.75	\$ / 223.75
39 Rear bumper under cover	1	Cracked					
40 Rear bumper under cover LH	1				\$	155.40	\$ / 155.40
41 Rear bumper under cover EH	1	Missing Cracked			\$	86.15	\$ / 86.15
42 Rear panel	1				\$	68.35	\$ / 68.35
45 Vegi hallel	1	Dented			\$	580.40	\$ / 580.40

Page 3 of 5



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722 Mobile: 9688-0418 Fax: 6266-7396

Email: absolute.app.svcs@gmail.com

Veh	icle No: SKC2363T	A-1				Rej	port No: AAS	/2019/	197
43	Rear panel trim	1	Dented			\$	80.50	\$	80.50
44	Rear storage panel	1	Broken			\$	1,210.75	\$/	1,210.75
45	Rear storage panel cover	1	Serviceable			\$	238.05		-N/V
46	RHR quarter panel	1	Dented/Distorted			\$	1,484.60	\$/	1,484.60
47	RHR quarter panel inner trim	1	Serviceable			\$	130.70		- NN
48	RHR breather vent	1	Deformed			\$	49.10	\$	49.10
49	Rear glass moulding (top)	1	Necessary			\$	114.95	\$	114.95
50	Rear glass moulding (lower)	1	Necessary			\$	40.30	\$	/ 40.30
51	Exhaust muffler	1	Dented			\$	986.90	\$	986.90
52	Exhaust pipe w primary silencer	1	Dented/Bent			\$	1,844.15	\$/	1,844.15
53	Exhaust mounting	4	Torn/Missing	\$	40.35	\$	161.40		161.40
5(Exhaust heat shield	1	Dented			\$	70.40		70.40
	Eront number plate	7218	2,56	List	otal:	\$:	21,147.00	\$ 1	9,105.05
1	Front number plate	1	Dented			\$	50.00	\$	/ 50.0040
2	Boot lid inner trim clips	1set	Necessary			\$	50.00	\$	/ 50,00 Ze
3	Rear glass sealant	1	Necessary			\$	60.00	\$	/ 40.00 /
4	Joint sealant	3	Necessary	\$	60.00	\$	180.00	\$	120.00 50
				Special n	ett total:	\$	340.00	\$	260.00
				Parts '	Total:	\$ 7	21,487.00	\$1	9,365.05
S/N	Labour Description					Rer	pairer's Est	Rev	ised Est
(To check front wirings.					\$	50.00	\$	30.00 15
2	To remove and renew front dama	ged pa	arts. Re-align all affec	ted area.		\$	1,000.00	\$	750.00 (400
3	To putty and respray all front dar	naged	parts. Touch up all af	fected area	a.	\$	800.00	\$	500.0040
4	To check rear wirings.					\$	50.00	\$	30,00 /5
5	To remove & refit rear trimmings	, rear :	seats, etc.			\$	180.00	\$	120.00 80
6	To transfer boot lid fittings.					\$	100.00	\$	80.0060
7	To renew reverse sensor.					\$	80.00	\$	50,00 40
8	To remove & refit rear windscree	n glass	5.			\$	200.00	\$	180.60 (00
9	To remove & refit fuel tank.					\$	100.00	\$	80.00 6.



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0418 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

Vehicle No: SKC2363T	Re	eport No: AAS	/2019/197
10 To renew exhaust muffler & exhaust pipe.	\$	180.00	\$ 150.00 6
11 To conduct wheel alignment	\$	100.00	\$ \(60.00 \)
12 Rust proofing on rear affected panels.	\$	100.00	\$ 40.00 /
13 To remove and renew rear damaged parts. Re-align all affected area.	\$	2,200.00	\$ 1,750.00 /2
14 To putty and respray all rear damaged parts. Touch up all affected area.	\$	1,600.00	\$ 1,200.00 80
15 Towing charge.	\$	60.00	\$ 60.00 5
Labour Total	: \$	6,800.00	\$ 5,080.00
			3320
The final adjusted lump sum amount is \$19,550.00	\$	28,287.00	\$ 24,445.05

Under normal circumstances, the repair should be completed within a reasonable period of 16 working days.

188 Photographs were taken at the time of inspection.

20688.56 2090: 16550

 \subset



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

ON	IPAC INSURANCE	BHD	Ref : CS3/LPC1900506	3/Gsd3s2-1
-014	I AO INOONANOL	. DITO		
	BEACH ROAD 04/07 THE CONC	OURSESINGAPORE 199555	Date: 07-08-2019 Code: LPC2	
		Policy Particulars	:- THIRD PARTY CLAIM	
	Insured Veh.	SLL 6754M	Veh. Inspected	SKC 2363T
	Policy No.	Z19VP05022453	Coverage (\$)	0.00
	Claim No.	19/19/19/VP05/021534	Excess (\$)	0.00
	Assign From	ONG LI LI	Assign Date	23/04/2019
		Vehicle Parti	culars & Condition	
	Make & Model	B.M.W. 318I	c.c	1995
	Engine No.	HIDDEN	Year of Reg.	2011
	Chassis No.	WBAPF72070FG90264	Colour	WHITE
	Odometer	176453	Steering	IN ORDER
	Brakes	IN ORDER	Modification	STANDARD ALLOY RIM
	General	GOOD		
3.		Condit	ions of Tyres	
		Size	Make	Balance
	R/H Front Tyre	225/45 R17	PIRELLI	6 mm
	L/H Front Tyre	225/45 R17	PIRELLI	6 mm
	R/H Rear Tyre	225/45 R17	PIRELLI	6 mm
	L/H Rear Tyre	225/45 R17	PIRELLI	6 mm
		Descripti	on of Damages	
	THE VEHICLE SU	STAINED DAMAGES AT THE FRO	ONT AND REAR PORTION.	
	DAMAGES SEE D	ETAILS.		
5.		Genera	I Information	
	Accident Date	16/03/2019	Inspection Date	23/04/2019
	Survey held at	160 SIN MING DRIVE #06-10		
	Repairer	LIAN HENG PAINTER CO.		
ia.		R	emarks	
		ON WAS CONDUCTED ON A"WIT CE TO YOUR INSTRUCTIONS, W		
5b.			Days of Repair	
THE PERSON NAMED IN	TESTIMATED NOR	MAL PERIOD FOR REPAIR:	10 Working Days	



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SKC 2363T

Qty	Description of Parts	Condition	Estimate By Workshop (\$)	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER (M TRIM)	DENTED	1,301.75	1,127.05
	FRONT BUMPER TOW HOOK COVER	CUT	25.35	25.35
	FRONT BUMPER LOWER GRILLE	CRACKED	113.45	113.45
	FRONT BUMPER FOG LAMP LH/RH @ \$258.15	NOT NECESSARY	516.30	-
	FRONT BUMPER FOG LAMP GRILLE LH/RH @ \$55.95	NOT NECESSARY	111.90	
	FRONT BUMPER RETAINER LH/RH @ \$41.50	NOT NECESSARY	83.00	-
	FRONT BUMPER CARRIER	DENTED	550.30	550.30
2	FRONT GRILLE LH/RH @ \$128.00	CRACKED / GRAZED	256.00	256.00
1	BONNET	DENTED	1,249.30	1,249.30
1	BONNET EMBLEM	NECESSARY	79.50	79.50
2	BONNET END SEAL @ \$33.75	NECESSARY	67.50	67.50
	BONNET DAMPER LH/RH @ \$109.45	NOT NECESSARY	218.90	-
	BONNET HINGE LH/RH @ \$81.85	NOT NECESSARY	163.70	-
1	BONNET HOOK	NOT NECESSARY	48.55	
2	HEADLAMP LH/RH @ \$980.25	CRACKED / BROKEN	1,960.50	1,960.50
2	HEADLAMP BRACKET LH/RH @ \$86.35	NOT NECESSARY	172.70	
1	FRONT PANEL	CRACKED	573.50	573.50
1	BRACE CATCH	NOT NECESSARY	41.30)
4	BOOT LID	DENTED	1,185.55	1,185.55
ă	BOOT LID EMBLEM	NECESSARY	69.50	69.50
	BOOT LID NAMEPLATE '318I'	NECESSARY	75.55	75.55
9	BOOT LID LAMP LH/RH	NOT NECESSARY	284.55	5
2	BOOT LID HINGE LH/RH @ \$78.85	NOT NECESSARY	157.70	
2	BOOT LID DAMPER LH/RH @ \$109.45	NOT NECESSARY	218.90	
	BOOT LID LOCK	DISTORTED	115.50	115.50
	BOOT LID STRIKER	NOT NECESSARY	54.40	
3	BOOT LID WEATHER-STRIP	NECESSARY	82.25	82.25
- 2	TAIL LAMP LH/RH @ \$377.85	O/S CUT	755.70	377.85
	REAR BUMPER (M TRIM)	DENTED / TORN	1,181.6	1,181.6
9	REAR BUMPER TOW HOOK COVER	MISSING	30.5	30.50
	REAR BUMPER LOWER TRIM	DENTED	71.5	S
9	REAR BUMPER CARRIER	DENTED	464.2	5 464.25

Report Ref No. CS3/LPC19005063/Gsd3s2-1



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts Condition		Estimate By Workshop (\$)	Our Adjusted (\$)
2	REAR BUMPER SIDE MOUNT LH/RH @ \$81.45	CRACKED	162.90	162.90
2	REAR BUMPER SUPPORT LH/RH @ \$34.15	CRACKED	68.30	68.30
1	REAR BUMPER CENTRE MOUNT	DENTED / CRACKED	112.35	112.35
4	REAR BUMPER PDC SENSOR @ \$236.85	MALFUNCTIONED / MISSING	947.40	947.40
4	REAR BUMPER PDC DECOUPLING @ \$12.30	NECESSARY	49.20	20.20
1	REAR BUMPER PDC SENSOR HARNESS	BROKEN	223.75	223.75
1	REAR BUMPER UNDER COVER	CRACKED	155.40	155.40
1	REAR BUMPER UNDER COVER LH	MISSING	86.15	86.15
-1	REAR BUMPER UNDERCOVER RH	CRACKED	68.35	68.35
1	REAR PANEL	DENTED	580.40	580.40
1	REAR PANEL TRIM	DENTED	80.50	80.50
1	REAR STORAGE PANEL	BROKEN	1,210.75	1,210.75
-1	REAR STORAGE PANEL COVER	NOT NECESSARY	238.05	
1	RHR QUARTER PANEL	DENTED / DISTORTED	1,484.60	1,484.60
1	RHR QUARTER PANEL INNER TRIM	NOT NECESSARY	130.70	
1	RHR BREATHER VENT	DEFORMED	49.10	49.10
1	REAR GLASS MOULDING (TOP)	NECESSARY	114.95	114.95
1	REAR GLASS MOULDING (LOWER)	NECESSARY	40.30	40.30
1	EXHAUST MUFFLER	DENTED	986.90	986.90
1	EXHAUST PIPE W PRIMARY SILENCER	DENTED / BENT	1,844.15	1,844.15
4	EXHAUST MOUNTING @ \$40.35	TORN / MISSING	161.40	161.40
1	EXHAUST HEAT SHIELD	DENTED	70.40	70.40
	LESS 5% DISCOUNT			-906.24
			21,147.00	17,218.56
	SPECIAL NETT ITEMS			
1	FRONT NUMBER PLATE (SN)	DENTED	50.00	40.00
1	SET BOOT LID INNER TRIM CLIPS (SN)	NECESSARY	50.00	20.00
1	REAR GLASS SEALANT (SN)	NECESSARY	60.00	40.00
3	JOINT SEALANT @ \$60.00 (SN)	NECESSARY	180.00	50.00
			340.00	150.00
	LABOUR			
	TO CHECK FRONT WIRINGS.		50.00	
	TO REMOVE AND RENEW FRONT DAMAGED PARTS. RE- ALIGN ALL AFFECTED AREA.		1,000.00	400.00

Report Ref No. CS3/LPC19005063/Gsd3s2-1



Description of Parts

(TO ITS PRE-ACCIDENT CONDITION)

LKK Auto Consultants Pte Ltd

Condition

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Our Adjusted

Estimate By

aty	Description of Parts	Condition	Workshop (\$)	(\$)
	TO PUTTY AND RESPRAY ALL FRONT DAMAGED PARTS. TOUCH UP ALL AFFECTED AREA.		800.00	400.00
	TO CHECK REAR WIRINGS.		50.00	15.00
1	TO REMOVE & REFIT REAR TRIMMINGS, REAR SEATS, ETC.		180.00	80.00
- 1	TO TRANSFER BOOT LID FITTINGS.		100.00	60.00
	TO RENEW REVERSE SENSOR.		80.00	40.00
- 8	TO REMOVE & REFIT REAR WINDSCREEN GLASS.		200.00	100.00
	TO REMOVE & REFIT FUEL TANK.		100.00	60.00
3	TO RENEW EXHAUST MUFFLER & EXHAUST PIPE.		180.00	60.00
	TO CONDUCT WHEEL ALIGNMENT.	NOT NECESSARY	100.00	194
	RUST PROOFING ON REAR AFFECTED PANELS.		100.00	40.00
- 1	TO REMOVE AND RENEW REAR DAMAGED PARTS. RE- ALIGN ALL AFFECTED AREA.		2,200.00	1,200.00
- 1	TO PUTTY AND RESPRAY ALL REAR DAMAGED PARTS. TOUCH UP ALL AFFECTED AREA.		1,600.00	800.00
- 1	TOWING CHARGE.		60.00	50.00
			6,800.00	3,320.00
- ()	GRAND TOTAL		28,287.00	20,688.56
	RECOMMENDED COST OF LUMP SUM REPAIRS			16,550.00

Report Ref No. CS3/LPC19005063/Gsd3s2-1

XING GUO QIANG

M.MATAI, AMSAE-A Automotive Assessor ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part, Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.